ks

THE:
AEl1.0718.
AHQIYA AE!1.4305.

| TR
XM ALSE Z{2|, AR AT 12.9.
AME|E AERIBA AR AH|QIBIA ARl A3 F A2-70.

OR[>
1o pmrg

HH:

LHS MO ST 22 2 Ust 23T 02 AFIZEE SE{¥LICH
O|ZM AFZE £4F Ql0| HE 35| Eo{% = L8t o 2 EHE 1t
7t E&EL|CH

AZE Q&= h11 O|Lio{oF &fL|C}.

=

Z= 29

H2 Eyd g, LS =ud

FEHS EE =TT 2 & B C D1 D2 R
(DIN 912)

K1924.00801 Lo &3 AE 20 M3x8 8 18 22,4
K1924.01001 LIEof &3! AEl 20 M3x10 10 24 26
K1924.01201 LiRof &8 AEl 24 M4x12 12 28 31,8
K1924.01601 LHSof &3 AEl 29 M5x16 16 34 39,4
K1924.02001 LHEof &3! AEl 33 M6x18 20 40 46,4
K1924.02501 LiRof &8 AEl 33 M6x18 25 45 50,8
K1924.03001 LiRo &% AEl 33 M6x18 30 54 58,6
K1924.04001 LiEof &8 2AEl 33 M6x18 40 60 65
K1924.05001 LiRo &% AE 41 M8x25 50 78 87
K1924.00802 LiEof 3! AE|QIP A AE 20 M3x8 8 18 22,4

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



°
L= = 2Hi i S
2H = E|:'||"$I = F_I‘E,’
E=ZE Y
FEHS el Etel 2 xHE B C D1 D2 R
(DIN 912)
K1924.01002 LiRo &% AHQIPA AE] 20 M3x10 10 24 26
K1924.01202 LiRo &% AEQIHA AE 24 M4x12 12 28 31,8
K1924.01602 LiEof &3 AEQIFA AE 29 M5x16 16 34 394
K1924.02002 Li=o & AHQIPA AL 33 M6x18 20 40 46,4
K1924.02502 LiRo &% AEQIFA AE 33 M6x18 25 45 50,8
K1924.03002 LiEof &3 AEQIFA AE 33 M6x18 30 54 58,6
K1924.04002 Li=o & AHQIPA AR 33 M6x18 40 60 65
K1924.05002 LHEo| &3 AEQIFA AE 41 M8x25 50 78 87
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



